Lot 287 — Inventory List

COD.
INTERNO

5611100760

5405301416
5405301386
5405100690
5405301071
5405100160
5405100650
5405100670
5405301074
5405101360
5405301380
5405301330
5405301376
5405301350
5405301398
5401100751
5401100753
5401100010
5403100040
5617600506
5617600513
5617600518
5617600507
5617600504
5617600601
5617600502
5611200528
5611205496
5611205494
5309100265
5309100410
5309100535
5309100530
5309100260
5306102356
5306400122
5306102060
5306100460
5306104191

COD.FORNITORE QTY Brand

12027L 129344/10
UTM45397
MASCHIO M24X3

MASCHIO 1-8UNC
MASCHIO M20X2,5
MASCHIO 3/4"-16 UNF
MASCHIO M10X1
MASCHIO 12X1,75
MASCHIO M16X2
MASCHIO M16X1,5
MASCHIO M18X2,5

MASCHIO 5/8-11UNC 2B
MASCHIO 1-1/16"-12 UN
MASCHIO 9/16"-18 UNF

MASCHIO 7/8"-14 UNF
MASCHIO 7/8"-9 UNC
MASCHIO 1/8-27
MASCHIO 1/4-18
MASCHIO 1/8 -28
MASCHIO 5/8-11UNC
CHIAVE TORX DT-7
CHIAVE TORX DT-9
CHIAVE TORX DT-15
CHIAVE TORX DT-8
CHIAVE TORX DT-6
CHIAVE AUTOBLOCK
CHIAVE TORX TX 6
PUNTA DIA 18
PUNTA DIA 16
PUNTA DIA 19
PUNTA DA CENTRO
PUNTA DA CENTRO
PUNTA DA CENTRO
PUNTA DA CENTRO
PUNTA DA CENTRO
PUNTA
PUNTA
PUNTA
PUNTA
PUNTA

N N
o & N =

N N WO W WNEFEPEDNWRERE WEREDN

= [
K o w N o

R P NP P WNNRFRRPRWNDNWER

0sG
0SG
0sG
VERGNANO
VERGNANO
0SG
0sG
VERGNANO
VERGNANO
0SG
VERGNANO
VERGNANO
VERGNANO
0SsG



5306102665
5306400017
5711102160
5306102875
5306102871
5306102865
5306102880
5306101720
5306400114
5306400110
5711102165
5711102157
5611205466
5306200123
5306200125
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio
Maschio

PUNTA
PUNTA
RASCHIETTO
PUNTA
PUNTA
PUNTA
PUNTA
PUNTA
PUNTA
PUNTA
INS RASCHIETTI
INS RASCHIETTI
FRESA
TESTA SBAVATORE

M30X3.5
M48x2
M33x3

M27x1,5
M16x1
M20x2
M16x2

1"-1/16-12
1"-5/16-12
1"-7/8-12
1"-5/8-12

M16x1,5

M30x3,5 Din376
M40x2
M36x4

1/4"-28

1"1/2-12

9/16"-18
1/4"-20
5/8"-11

A N O N R RO PDNPRE

10

[N N =
N Y o PR o

R R R PR NRRNRNRRRRRR

[y
= o



